o000 O0O0OO0OoOO0OO0OO0OO0OO0OO0OO0O00O0DO.

Hardware Kit (rowing version, two stations)

QTY ITEM USE uom
50 1/4" Classic Filament 3-strand Polyester Line painter and foot rests ft
2 Armstrong 6" deck plate Round Cream E tank compartment access plates ea
1 Gaco oarlock pair for 1/2" sockets horn oarlocks for solo rowing (2nd pair add'l) pair
1 Gaco Oarlock pair including 4 sockets can get another set of top mount for solo station pack

12 Heading twine, Gold lanyards for oarlocks ft

-

Br strap eye 5/16" pair (#8 fastener) bow eye (screw), tie down pr

2 SB wood screw #8 x 3/4 FH slot bow eye strap (not for towing) ea

4 Brass wood screw FH slot 10x 1-3/4" forward fixed seat ea

4 Brass finish washer #8 bow seat fixed ea

=
8 SS #8 x 1" OH wood screw (slot) “‘»"}""’g oarlocks (top) ea
2

2 1/4"-20 x 1.5" partially threaded SS thumb screws moveable seat ea

seat riser threaded inserts ea

I

ft

Brass tapping inserts for hardwood, 1/4-20

Skeg - 38" (bend 32" from bow end), Bow 34" (bend
12" from eye), 91"+11" (optional keel,stem length)

=4

6 Brz half-oval 3/8" predrilled and c-sunk

-

SB wood screw #4 x 1/2 FH slot half oval screws bx

L
P
L=
-
26 tapping screw S/S FH sqdr #8x1-1/4" f Rubrails at bow and stern (8), side arms to bottom ea
A

frame (6 per frame), transom to knees (4), skeg (2)

2 tapping screw S/S FH sqdr #8x 2" skeg from inside boat ea

1 Elastomeric marine sealant 3oz tube clIr bedding hardware ft

2 Packing fee ea
Upgrades

1 Edge mount oarlock socket Br (#10 screws) for tandem rowing position pack

4 1/4" x 7/8" QR pin 18-8 SS adjustable foot rest ea

2 6063 Aluminum U-channel, 2-ft length s LI adjustable foot stretcher, needs drilling ft



